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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

. (D) (%) (B) (A) QUESTIONS Q-1
JodeEh A | Ul b e Eg |
Ll?;z]i é) E VO]llij;?l?dOfa Area Mass A measuring cylinder is used to measﬁre
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. P=mv P=Fxd P=dt P=ma Formula of momentum is -;.J:MW(}‘;:’ 3
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Mercury Water Ice Copper Which of the following material has large specific heat
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Power “ Conduction Radiation Convection | What is the reason of gliders to stay in air.
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Answer briefly any Five parts from the followings.
Differentiate between nuclear Physics and atomic Physics.
Write down the number of significant figures in (a) 2750.0 (b) 0.027
What is Net force. Give an example. '

How the Least Count of a Vernier Callipers is determined?
Differentiate between sliding friction and rolling friction.
Define an Isolated System. Give its example.

We donot feel gravitational force between objects around us, why?
How is the centripetal force is provided to an artificial satellite

around earth? What will be the value of this force?

Answer briefly any Five parts from the followings.
Define uniform velocity and uniform acceleration.
What would be the shape of a speed-time graph of a body moving
with variable speed? Explain briefly?

Define vibratory motion and write an example?A

Define plasma. Write two examples.‘-’ﬂ/ d@w;!&fi:uél /‘7 di Lk V)

Explain briefly with example that atmosphere exerts pressure?
Why does a cup of hot tea become cold after sometime?
Write two uses of convection currents?

Answer briefly any Five parts from the followings.

What is meant by trignometric ratios? Y A e s SK I Gid)

What does a force do work? ‘7‘;—43/ e L G
Ali pulled a box through 30 m by applying a force of 400 N, find G_}"/j30 m S J(kvgé_nz.ﬁ:«; d/400 N J‘ ()
work done by Ali? S /¢ r;l” be{l.f: (/KJ’ “

How wirid affects Evaporation? "c.dr/ul/@/’/ g4 (vid)  Define Elastic potential energy G s e aS pn Gi)
Define volumetric thermal expansion? S S L'o;J 114 (}/l] o (:JU (viii)
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Note: Attempt any Two Questions. 9x2=18 - . 7 ..:«QL?.L@UV»;J:(:&J

5.a. State and prove law of Conservation of momentum.
b. Find the gravitational force of atiraction between two spheres each of
mass 1000 kg. The distance between the centers of spheres is 0.5 m.
6.a. Explain translatory motion and give examples of various
types of translatory motion.
b. The density ofairis 1.3 kgm_3. Find the mass of air in a room
measuring 8mxSmx4m.
7.a. Define Couple. How can you find Torque due to Couple?
Explain.
b. How much heat is required to increase the temperature of

0.5 kg of water from 10 °C to 65 r
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On doubling the moment arm , What will be the effect on the value of Torque?

bger) (28D U7

1 /|

L1 f ez L 3. c.ufd';w 240y
LSS TSI D

@27500 0027 -&Soret G

-é;dt"fug?q_;l/gcpﬁ);&? Gii)
St e s )

NGRS Bl W)

°JM§CL&"JJJ}JI(‘4
NPy Lmétr_é,f R Lt 23 AU
e Ju’)-fipb;muju;p 6))
S LE Ll S dr S G
-éub-;"'"«frb@’etf

e lingEy F S Gid

State principle of ﬂoatatlon”_é ubJﬂi k7 Gv)
e U AU E e Je (D)

U ‘gw_,mwpu,:}:g {glgr; (vii)
;éx_}&ﬂlﬂﬁ»&f/dﬁgf (viid)’

-u_’fl,,;&glﬁ/gﬁlmék;&fcdﬁd;’(yz) -4/:2‘){)"
¢ s ll .l.r‘//,’,:.{’:' J kel S (JT.:J/:’ @
Define clock wise momentum?Scz./ s 7§ v (i)

écqb‘uiéf;ugu]ﬁ'ﬁfiufréﬁf (a)5

LS Lhe 1000 kg ULl s tiR s n ()

J/(JJVU’J}’J)d//quJJéu’-LO 5m el

Y P SN L B i (6

Z.fl_g;.SmXSmMm ] 3 kgrr[3 d"‘:}d/fr ®)
ir:b’ummiruﬁg./

U/()" Lr th‘ww &S J{-g:l /bfc,df ()7

_Z:.)u)-c_t‘

ei7d Lo lon £65°C < 10°C 4is Kdtrlf #0.5 ()

"J!‘J(;uiwufd/

T A



& E-v) 7= ‘{!7’;{1‘7) ’-ﬁ

SN ) Y

S——- VT ]

-éﬂ;" 3/ J /." Jul;;l/' ,J:ua? 8 174,:4‘1)'1}’ 12 B s ({( =220y
s 2020-22102023-250% Lfuth

PAPER CODE 1472 RAS  erisish (F) S

Lu@fé}/&.&f&fztﬁﬂ)ﬁb’?g}fUz/é.,A;Zc;/uL.u.'.'u:/'bZ2;.1&l/é:Jf//;/,((é((}&-(ﬂéZ;.)DulCrBrA:aLlﬁ)?/lgl,Jlr‘/; ey
44../’(;&&’ :f_u" L/Zyu PAPER CODE;xL’/?.g,;.”JIyJIJI}"u:’»ﬁ(}fdjﬁ-b’nu‘jwvlﬁu[jufaszL//;_/abQL/{fu,/’_l)u&J
- _S&DF-. D — -c“.C}"'JW'K)‘L’."Q’Luﬂ/ﬂ-d‘n{_rbb')lbdﬂ;ijrwu:o/:‘gfukkrg[/
Note:~ You have four choices for each objective type questiort as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed
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Meter Mole Ampere Second ST unit of electric current is
TrSaAs | Frd g e Il AW ey, SL /-(’@l 2
V;?;gt(;)rll’y i?éﬁg;y l:na(r)lggrr:l : %ﬁ;?gir The motion of a body around its own axis is called
Sl (¥ 4 F —eySIEU | 3
Ampere Kilogram Newton Pascal ST unit of force is
rnvz mv2 r2 r _%UKJGKJJ}JQJ}? 4
2 2 p . . )
r r my my The formula of centrifugal force is
LT
s o | sfoo | TF=0 | Tr=0 e RHESEASE | s
F, £, First condition of equilibrium is
“ o tagk
10000km | 42600 km 15421 6400 km P N RTINS
Infinity Earth’s gravitational force of attraction vanishes at
] 4 y g ek S 3682 0L
50 ms”’ 25 ms” 12.5ms"' 5 ms’ Jr%d’d gl “'C: dﬂ’(‘/)ug Lr I)KZ 7
The K.E of a body of mass 2 kg is 25 J, its speed is
= Jo ST ST
E=m’c’ E =mc’ E=m'c E=mc e 4’_ ’l./(’{/ JLJJLJ 8
Einstein's mass-energy equation is
; Stressx Strain “ e o
Strain _ Stress _ J,[bfﬁu;‘b £ ¢ P‘& .9
Stress=Constant | Stress = S| Syrain - Constant = Constant
Ve p=Constant | &7 S 1 B2 Constant ¢/ #xUm & | According to Hook’s Law
s o
=Constant
e dubadrr 2 EE | 10
35°C-42°C | 30°C-42°C | 25°C-42°C | 20°C-42°C
The range of Clinical Thermometer is
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.. . Lo (S . ﬂ
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Answer briefly any Five parts from the followings. 5%2=10 -d///utl?/‘iéll‘étz_—d’rz’uﬁd"@ﬂ J/Jlr’
Wha_t is meant by significant figures of measurement. ‘ ?c"_;l /L/a.urmﬂuf uJ [g,uj @
Differentiate between Base quant_itieé and Derived quaritities? "4[} A Ushaz i gt s s Sy Gi)
Why do we need to measure extremly small interval of times. Zu e J 4_l.f L. Jdﬁ dw L_.J’u” Gii)
What is force of Limiting Friction? Sl i AN w'f /&w Gv)
Why rolling friction is less than sliding friction. ?‘Lgnu{ ﬂ/ c.-u;( /-ffv’ ll/:f /'...ﬁu )
State Law of Gravitation. -é k95K, d:! dgf (vii) What is law of inertia? Vc‘:.t‘ngu)t?g?/'l v
Write two uses of Satellite. el Lot (viii)
Answer beiefly any Five parts from the followings. sx2=10 Sy f bz Linbe e tdits 340y
What is LIDAR gun? °c..U/uf(JuJ) LIDAR (n) What is meant by terminal velocity? ~ S sl 7 @)
Define Acceleration. Write its SI unit. J“’J ‘f #SIEI- éo._a/ Ve N )'J’/l (i)
- The mass 0f 200 cm’ of Stone is 500¢g. Find its density. ) -Z’Zf’wé‘/zﬁJJL‘LSOO g JW/’-}L(;"..I;ZOO cm »..{l Gv)
Define Hooke's Law. -ébé{ Y SusbK. 4 W
Why does the atmospheric pressure vary with height? ?é—r‘?d&u[ Py ﬂ./,,..,‘/ el (vi)
Why does see breez blow during the day? Why does Land breez blow in the night?Se ¥ Ul s S 4(£ e FEur e L ons /(’ (viD)
How can the temperature in a green house be maintained? ?‘L.t'lgb(/ﬂ /- /_ch )’J/ f j. ;.i 8D et f .._(l (viii)
Answer briefly any Five parts from the followings. 5%x2=10 -L[//_f@uﬁ/‘?é!Zlékc—chuijbA .4/()!)’
Differentiate between Torque and Couple. -2 e AUt Gi) Define Resultant force.-Z5# Susdey, @)
Under what condition a body is said to be in Equilibrium. ?c"_L“mj.f :J(op( “ /d}gluf () é/ Gii)
Define Renewable and non Renewable sources of energy. -é - /7 J ébﬁé@/’l 4,4? J(?L'/;l,y; Jl‘a‘ Gv)
Define power and write its unit. - ' R LIy g s ()
" Name a device that conviyl Shanical energy into electrical energy. -4_3/ S A6 /’l‘ﬂ /ﬂl/ & /'h){:“:( iu"’v (W(// l;jhﬁl i)
Write difference between Heat and temperatureé St 7 G / (viii) Define internal energy.- é o u( S Fro (id)
Part . R
Note: Attempt any Two Questions. 9x2=18 -qj/ 47 uU?[.uUlr» cd:'/ 29
5.a. Find Tension and acceleration in a string for vertical motion =S 7t (P.!._feu:/ r)"‘ w}a(wcﬁ S (ads
of two bodies attached to the ends of a string that passes over e s i Ld»ﬁ..g,grlz.wu &S
a frictionless pully. s
b. A communication satellite is launched at 42000 km above ‘ 4 ¥ AJ 42000 km &% ,_gjlptf‘}fé,! _,_Q ®
earth. Find its orbital speed. -é(:l”' ,_f;.;‘.dj'uTJ U l-?Q//( J S
6.a. How is kinetic molecular model of matter helpful in 4 /:_:..a Lu@(j(gj_ﬁé_/ o ”)7 e u}"lau:?,: Jut (a)6
differentiating various states of matter. ?c".t'm:z:lf'cbb*b )’J{ p /’"
b. A train moves with a uniform velocity of 36 kmh ™" for 10's. 5 GUFEF10s Bz 36 kmh™ /2 gl (b)
Find the distance travelled by it. -é“}”‘)’ﬁu/’)’_&ﬂ-%
7.a.  Onwhat factors the evaporation of a liquid depends? Explain. Sope el e b S AINHA 0 dls” @)T
b. A motor boat moves at a steady speed of 4 ms ' water resistance J 4 '—%L}/ O PP Yams™ 22 i (0)
acting on it is 4000 N. Calculate the power of its engine. —".{("l””&\;lj’éd’ﬁ-‘woo N UJ{V]JJ&.‘;J”L;
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